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yazt 2,417.0 258.5 65.5  1,540.5 40.5 1,333.0 167.0 373.5 178.0 1.0 19,005.0  2,229.5 80.49 89.97
ZALH T AR 396.5 30.0 24.5 255.0 10.5 227.0 17.5 66.5 20.5 - 7,833.5 360.0 79.32 96.10
AR T AR 139.0 24.0 1.0 69.0 4.0 52.5 12.5 23.5 21.5 - 999.5 154.5 74.59 87.04
bt 7 AR 358.5 28.5 7.0 224.0 7.5 210.5 6.0 74.5 24.5 - 1,348.5 251.5 75.04 83.98
PR T 7ERE 175.5 16.5 2.5 119.0 3.5 84.0 31.5 29.5 8.0 - 1,190.0 183.5 80.13 86.18
BT T R 98.0 11.5 5.5 60.0 3.0 43.5 13.5 10.0 11.0 - 366.5 55.5 85.71 89.50
B SR T AR 47.5 6.5 1.0 35.5 - 30.5 5.0 4.5 - - 280.5 40.0 88.75 88.41
=i )5 AR 280.5 30.5 4.5 198.5 2.0 172.0 24.5 36.5 10.5 - 1,704.0 261.5 84.47 86.71
FERE T AR 60.0 8.0 - 33.0 - 32.5 0.5 9.0 10.0 - 227.0 43.5 78.57 84.36
LM T R 116.5 25.5 2.0 74.5 - 52.5 22.0 10.5 .0 - 468.5 83.0 87.65 88.15
T T AR 41.5 8.5 2.0 20.5 - 18.0 2.5 6.5 .0 - 266.5 45.5 75.93 86.87
EEMIT AR 72.5 .0 1.0 48.0 1.0 47.0 - 10.5 .0 - 411.5 58.5 82.05 88.21
2T ER 165.5 20.0 3.5 112.0 4.0 92.0 16.0 25.5 .5 - 953.0 223.5 81.45 79.01
e T R 191.5 10.5 2.5 120.0 3.0 115.5 1.5 37.0 21.5 - 1,158.5 158.5 76.43 87.44
TEUE N 7 2R 30.5 7.5 1.0 14.5 1.0 13.5 - 1.5 6.0 - 548.5 75.0 90.63 87.88
S5 LR 3.0 - - 3.0 - 2.0 1.0 - - - 8.0 1.0 100.00 87.50
R T AR 73.0 8.5 4.0 33.5 1.0 23.0 9.5 11.0 16.0 - 390.0 83.0 75.28 81.92
EE T ER 27.5 4.5 1.0 15.0 - 14.5 0.5 3.0 4.0 - 112.0 29.5 83.33 78.57
L TT AT 46.5 3.0 1.0 37.5 - 36.5 1.0 3.0 1.0 1.0 182.0 37.0 92.59 81.87
E M T R 48.0 4.5 - 33.0 - 33.0 - 6.5 4.0 - 199.5 38.0 83.54 83.21
Rl 7 AR 40.5 1.5 1.5 30.0 - 28.0 2.0 4.5 3.0 - 324.5 36.0 86.96 89.83
B T AR 5.0 - - 5.0 - 5.0 - - - - 33.0 11.0 100.00 66.67
#; EAR[EIHARR (%) -0.27 -8.50 -2.24 0.52 1.25 2.07 -10.46 -0.80 7.88 - 2.50 3.10 0.21* -0.25*
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